










Find the missing term(?)

20 : 30 :: 110 : ?

(A) 123

(B) 321

(C) 312
(D) 132 



Find the option which should replace (x)

(A) 3     

(B) 6

(C) 5        
(D) 4

32 X

18 9

22 11

12 3

8

2

2

4

36

27

33

15



Find the option which should replace (?)

(A) 1

(B) 2

(C) 4

(D) 3

729 3 216

343 ? 64



Find the missing term(?)

2 , 3 , 9 , 49 , ? , 3841

(A) 385

(B) 685

(C) 458

(D) 565



Find the DICE (?)

(A) (B) 

(C) (D) 



Find number of triangle in the given figure ?
दी गई आकृति में तिभुज की संख्या ज्ञाि कीतजए?

(A) 40

(B) 41

(C) 38        

(D) 25



In a Certain code HERO is written as 9685,than find the code 
for GIRL ?
एक तितििकोड में HEROकाकोड 9685 तिखा गया है िो GIRL 
काकोडक्या होगा ?

(1) 3997 
(2) 9397 
(3) 9379 
(4) 3979



Find the odd one  (?)

(A) Pear / िाशपािी

(B) Orange / ऑरेंज

(C) Guava / अमरूद
(D) Apple  / सेब



Find the missing term(?)

GAP : 48

PEN : 70

LAN : ?

(A) 54

(B) 27

(C) 38
(D) 58 



Which of the following calendar year is similar to the 
calendar of the year 2003.
तिम्नतिखखि कैिेंडर वर्ष में से कौि सा वर्ष 2003 के कैिेंडर के

समाि है।

(A) 2009

(B) 2010

(C) 2012

(D) 2014



Find the missing term(?)

Green Revolution : Plants:: Grey Revolution : ?

हररि क्ांति: पौधे :: गे्र क्ांति:?

(A) Poultry / पोल्ट्र ी

(B) Fertilizers / उर्वरक

(C) Animals / पशु

(D) Forests / र्न



Find number of triangle in the given figure ?
दी गई आकृति में तिभुज की संख्या ज्ञाि कीतजए?

(A) 13

(B) 14 

(C) 15

(D) NOT



Find the option which should replace (?)

18 * 7 = 315
8 * 5 = 100
12* 4 =

A. 230
B. 120
C. 215 
D. 265



Find the option which should replace (?)

1 , 5 , 7 , 43 , ?

A. 98
B. 56
C. 89
D. 65



Find  the number of triangle (?)

(A) 125

(B) 216

(C) 256
(D) 64


